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(i)  ¥8 Jo9-97 g GUel § favifoia 8 — &, @, T, gTG F |

(i) @Y & 4 Yo7 G&I1 18 18 7% Fglawedid (MCQ) 7T 97 &1 19 TF 20
S7HIT TF T ST Teh-Ueh 37 & 97 & /

(iv) WIS T Fo7 T&I7 21 & 25 % 3fd TG-FT0T (VSA) TR & F1-31 371 & Fo7
g1

(v) @UETH J97 &7 26 G 31 T TG-ITIT (SA) FHR & d17-d1T 371 & J97 8 |

(vi) T@UZ T H J97 G&I7 32 & 35 T AH-FHIT (LA) IHR & Gia-gia &) & J97 8 |

(vii) @UZ F H Y97 &7 36 & 38 T YU HeIIT TR R-eR 3l & J97 & |
Jedh JHTT 37997 7 AR fdehcq g1-at 1] & J97 & oI 7r 3 |

(viii) Y99-97 § GqT f[@dHey 787 371 727 8 | TEfd, @vs @ 3 2 e §, @S T & 2 ¥l
4, G@vs g %2 v 7 797 G@US & & 3 Yo 7 AR [dHcT FH JIEae 597 T
g1/

(ix) 81 STvTF § B FHIa F15Y | & Ha9q% & 1 = % g, If7 =T
7 fear mr & |

(x)  @ogpeiet BT ITT dlfd & |

Qusg <h

3G @UE 7 Fglanedid 597 (MCQ) &, 578 I J97 1 37% &1 & |
1. k& A9 e fou fgama sfieo 2x2 — 10x + k = 0 % 7A@ ardfaesh 3R

TR T, 2 -
25 1
5 1
(C) - 5 (d) 5

2. I g 0(2, 3) aTel Th I i AB T ST 8, el A 3R B Fcummes s
(4,3) 3R (x,5)8, T xHIAF & :

(a) 3 b)) 2
(c) 5 d 4

30/C/2 ~N~~ Page 2



B

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(i1)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections - A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. . 22 . .
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1.

The value of k for which the quadratic equation 2x2 — 10x + k = 0 has real
and equal roots, is :

@ 2

7 (b)

N|—= Ol

5
(C) - E (d)

If AB is a chord of a circle with centre at O(2, 3), where the coordinates of
A and B are (4, 3) and (x, 5) respectively, then the value of x is :

(a) 3 b)) 2
(c) 5 d 4

30/C/2 ~N~~ Page 3 P.T.O.



3. WgYE 3x%+11x—4 % I 3 :

1 1
(a) 5 y — 4 (b) Z y — 3
1 1
(C) g s 4 (d) g ) 4
4. A T o Tsh YN H HH-T-HH Teh AIGh! o 814 hl ATIehdl &
1 2
(a) § (b) g
3 1
(C) Z (d) Z
5. Fgu@,nHxsmaglsa:
(a) 73HTS (b) 5 3HTS
(c) 43P @ 10 HE
6. 2c0s29(1+tan29)6|1'|6|'{%:
(a) 0 (b) 1
(c) 2 d 3

7. ARG €9 ¥, THIHO IH — 6x — 2y = 21 3 2x — 3y + 7 = 0, § @I3AT &l
fefyg =t 8, I -

(a) T gEL il 3leh T forrg W hredl &
(b) T GE I 3 q fargall W wredt &
(c) HU &
(d) TR §

8. G U WIERhA HI Ui 11 km I g & F H 5000 Feht AT 2, dl
afeq 1 IH B

(a) 65cm (b) 35cm
(c) 70 cm (d) 50cm
30/C/2 ~N~~ Page 4



3. The zeroes of the polynomial 3x2 + 11x — 4 are :

1 1
(a) E,—4 (b) Z,—3
1 1

4, In a family of two children, the probability of having at least one girl is :

(a) (b)

(c) (d)

Blw N
BN|= oo

5. The distance of the point (4, 7) from the x-axis is :
(a) 7 units (b) 5 units
(c) 4 units (d) 10 units

6. 2 cos? 6 (1 + tan2 0) is equal to :
(@ 0 (b) 1
() 2 d 3

7. Graphically, the pair of equations —6x — 2y =21 and 2x — 3y + 7 =0
represents two lines which are :
(a) intersecting exactly at one point
(b)  intersecting exactly at two points
(¢)  coincident
(d)  parallel

8. If a bicycle wheel makes 5000 revolutions in moving 11 km, then the

diameter of the wheel is :
(a) 65cm (b) 35cm
(c) 70 cm (d 50cm

30/C/2 ~N~~ Page 5 P.T.O.



9. TN 7cme T ga W, fog PN 90 & %5 € 25 cm 6l g0 W f&@ 2, €
St T3 TqRI-X@T shi AR B

(a) 22cm (b) 24cm
(c) 25 cm (d 28cm

10. A H, g O a1 g9 W PA 3R PB d TRI@N 39 YK 7 &
/APB=50°% | 98 ~ OAB I |19 2 :

A
P
B
(@)  25° (b)  50°
()  75° (d)  100°

11. BT 7 cm % %5 O 911 I &1 Th 9gAis OACB 8 J&l ACB I i =™
%ISHH@W@W&&T%

(a) 15cm (b) 50cm
(c) 25 cm (d) 44 cm

12. I 2x, x+ 10, 3x+ 2 Th AP. o dH AN U &, ol x h1 G 2 :

(a) 4 (b) 5
(c) 6 d 8

13. < YTl ! Ush SR Hhehd T, TNTHA 10 T B4 <hl ITRIeRdT 2 :

1 1
(a) E (b) %
1 1

30/C/2 ~~~ Page 6



10.

11.

12.

13.

The length of the tangent drawn from a point P, whose distance from the

centre of a circle is 25 cm, and the radius of the circle is 7 cm, is :

(a) 22cm (b) 24cm
(c) 25 cm (d) 28 cm

In the figure, PA and PB are two tangents to the circle with centre O
such that £ APB = 50°. Then, the measure of £ OAB is :

A
P<
B
(a)  25° (b)  50°
(c) 75° (d)  100°

OACB is a quadrant of a circle with centre O and radius 7 cm where ACB

is the arc. Then the perimeter of the quadrant is :
(a) 15cm (b) 50cm
(¢ 25cm (d 44cm

If 2x, x + 10, 3x + 2 are three consecutive terms of an A.P., then the

value of x 1s :
(a) 4 (b) 5
(c) 6 (d) 8

In a single throw of two dice, the probability of getting a sum of 10 is :

1 1
(a) E (b) %
1 1

30/C/2 ~N~~ Page 7 P.T.O.
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14. T HAR 1 HAE 20 m 2 | 99 I 1 3F@T 60° 7, a1 Y W & HHR A

SHT hl AT 2 :
(a) % m (b) ? m
(¢ 20V3 m (d 20m

15. & TE 3Mep(d #, DE | BC 3 @t 719 em # 20 & | AR o oieeTg 2 -

(a) 2cm (b) 2:25cm
(c) 2:5 cm (d) 2:75 cm

16. TE&ARA 1,2, 3H ¥ Ush 9&A1 A Il g AR 39 x § T&fua fohan Jmar g iR
TS 1,4, 9 ¥ T &A1 g At g N oy @ FEua e S g | a9
P(xy<9)36’:

(a)

(b)

O|Ut O
W3 ©o|w

(c) (d)

17. T 10 m &6 SHEAeR @Y 1 W 98 arell SR H TFE 5 m g | I
g H, T AR A fit | US4 arell IR A dEE 125 m g | HEAR A
TS B

(a) 20 m (b) 22 m

() 26m d 24m

30/C/2 ~~~~ Page 8



14. The height of a tower is 20 m. The length of its shadow made on the level

ground when the Sun’s altitude is 60°, is :

(a) %m (b) % m
(¢ 203 m (d 20m

15. In the given figure, DE ||[BC and all measurements are given in
centimetres. The length of AE is :

(a) 2cm (b) 2:25cm

(c) 2:5 cm (d) 2:75 cm

16. A number is chosen from the numbers 1, 2, 3 and denoted as x, and a
number is chosen from the numbers 1, 4, 9 and denoted as y. Then
Pxy <9)is:

(a) (b)

(c) (d)

|t O+
©W|la w©w|w

17. A vertical pole 10 m long casts a shadow of length 5 m on the ground. At
the same time, a tower casts a shadow of length 12:5 m on the ground.
The height of the tower is :

(a) 20 m (b) 22 m
(c) 25 m (d) 24 m

30/C/2 ~N~~ Page 9 P.T.O.
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18.

YT TG T ITAN i W Th s, [Sehl HEA 7-2 IR A1edeh 7-1 B,
1 SgAS BT

(a) 62 (b) 63

(c) 65 @ 69

I G&IT 19 3K 20 3YFYT U d@ STGIRd I & SR I9F I H1 1 P
8 1 G ®97 137 71T & 57 v @1 S7f%eT (A) T GR F1 T (R) GRT Sl [T 771
& 1 57 I791 & &&1 I 714 12T T H1El (a), ), (c) 3R (d) § & FAa< G977 |

19.

20.

(a) 3HRAT (A) 3R T (R) TFI T&I & 3R Tob (R), AR (A) Hl Tl
ST R 2 |

(b) AR (A) 3R T (R) HI Tl B, T o (R), AR (A) i T&l
TS g1 il & |

(c)  Afhed (A) Tl B, W=g %k (R) TeTd & |

(d) 3T (A) Tad 7, g doh (R) 981 & |

S7YFHIT (A) :  Teh TI598T UTHT Teh SR Whehl ST & | Tesh THST &I ITSd 814
a‘ﬁmﬁw%%l

7% (R) : T Whd HEAT, ANST G&A1 Bl @ AG T H&AT o had al
TUETE & |

ST (A) : & Ragarel, @i 3R AW U R 89 Wod 3 | |9 &
A9 Sfq4 hI TTReRdT 0-79 § 3T STIEM o B Siiad skl ITResdl

0-21% |
7% (R) : Tl Yk T T TTTrehdTeTl T ANThA 18T 8 |

Qs @

57 GUE T 377 TY-FHIT (VSA) FHR & J97 &8, 977 F9% &2 37% & |

21.

(%) AT A(-2, 1), B(a, 0), C(4, b) T D(1, 2) Tk TR Iyt ABCD &
3 8, df a 3 b AF G shifT |

AT

(@) foag A(-1, 0), B3, 1) @1 C(2, 2) 3¢ 56H § 91 R, Th FATR Tq4S
ABCD % 9 3fiY § | 35 <19 3fi¥ D & fdemes sma Shifs |

30/C/2 ~~~~ Page 10



18. Using empirical relationship, the mode of a distribution whose mean is
7-2 and the median 7-1, is :

(a) 62 (b) 63
(c) 65 (d 69

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from

the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
19. Assertion (A) : A fair die is thrown once. The probability of getting a

. .1
prime number is ok

Reason (R): A natural number is a prime number if it has only two
factors.

20. Assertion (A) : Two players, Sania and Ashnam play a tennis match. The
probability of Sania winning the match is 0-79 and that of
Ashnam winning the match is 0-21.

Reason (R): The sum of probabilities of two complementary events is 1.

SECTION B
This section comprises very short answer (VSA) type questions of 2 marks each.
21. (a) If A2, —1), B(a, 0), C(4, b) and D(1, 2) are the vertices of a

parallelogram ABCD, then find the values of a and b.

OR

(b)  The three vertices of a parallelogram ABCD, taken in order, are
A(-1, 0), B(3, 1) and C(2, 2). Find the coordinates of the fourth
vertex D.

30/C/2 ~N~~ Page 11 P.T.O.



%EI
G
. A0 _BO 1
22. ‘qﬁﬂi:ﬂ'@ﬁlﬁ,E=O—D=§H$TAB=5cm%IDCﬁWI§W
HITTT |

Y

Y

D C

23. (%) 3AfC a8 fow gemm 2 FF V2 wh i e g, qi fag e f6
(5-2+/2) T U 9&AT 2 |
JroraT

(@) = i foh @ forelt ITeha §&AT n & folw, §&AT 67, 37 0 W FAT
Bl TRl 7 |

24. T I fog P W T By ABC 1 4STT BC ! @ @ 2 3R shAw: famgati
Q 3 R 91gTE 7§ Y13l AB 3R AC &1 § W7 |

%W%AQ:% (A ABC =1 9fm) |

25. @ ity T forgatl (- 3, 10) 3R (6, — 8) =l Jied a1 WW-@UE i fog
(- 1, k) Torg o79ara o faarfora et g | o1:, k 31 5H F1d i |

30/C/2 ~N~~ Page 12



22. In the given figure, A9 = BO = 1 and AB = 5 cm. Find the length of
oC Ob 2
DC.
A - B
O
D ” ¢

23. (a) If V2 is given as an irrational number, then prove that (5 — 24/2)

is an irrational number.
OR
(b)  Check whether 6" can end with the digit 0 for any natural

number n.

24, A circle is touching the side BC of a A ABC at the point P and touching
AB and AC produced at points Q and R respectively.

Prove that AQ = % (Perimeter of A ABC).

25. Find the ratio in which the point (— 1, k) divides the line segment joining
the points (— 3, 10) and (6, — 8). Hence, find the value of k.

30/C/2 ~~~~ Page 13 P.T.O.
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Q|us 1

57 @V § TY-3F70F (SA) TR & T &, 1574 IJ4% & 3 3% & |

26.

27.

28.

29.

30.

31.

HTURVA FATATIdeRT oY %1 e faflay ot 38 fiag i |

(®) 50 R 500 % &= % T qUiehi, S 7 & HST &, B AMHA A
EAEIN

YT

(@) 10 3R 300 % o= T forat T & S 4 | AT HA W AT 3t | 2
T GEITAT T AMTHA i J1d i |

T I b &FABA T AMTHA 468 m2 B | IfE Ik AT T FaT 24 m &, @
ST Gl Sl SISl hl RSt STd it |
A Y % T Tk 1Y Tk B hl 3% U H W Ehd & | S8 I 9l 9

AT W B bl WA U, HH oIH dd 90 § 5 82 hH JIT odT & | IIeh A
T ST H BN bl WA & AT 1 i |

(F) 6 cm s It T g4 & A AR G HSAQUST A &% Aq@ I,
Ife & =19 g Shg W ITd I 60° 7 |
(n = 3-14 1 SN i)
ruaT
(@) A 10 cm B a1 T I HT HIg SAGT heg T 60° T HI0 AN

Ll g, Al {10 TG JAEUS I FABA [ HINT |
(n =314 3R /3 =1-73 T YA i)

Th T ABCH, L A=x°,/B=@Bx—-2°aN £ C=y°3 | @Y &,
ZC-2/B=9°% | Brga & o1 o 5ma Ao |

30/C/2 ~N~~ Page 14
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SECTION C

This section comprises of short answer (SA) type questions of 3 marks each.
26. State and prove Basic Proportionality theorem.

27. (a) Find the sum of all integers between 50 and 500, which are
divisible by 7.

OR

(b) How many numbers lie between 10 and 300, which when divided

by 4 leave a remainder 3 ? Also, find their sum.

28. Sum of the areas of two squares is 468 m2. If the difference of their

perimeters is 24 m, find the lengths of the sides of the two squares.

29. Two water taps together can fill a tank in 3% hours. The tap of larger

diameter takes 5 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can fill the tank separately.

30. (a) Find the area of the minor and the major sectors of a circle with
radius 6 cm, if the angle subtended by the minor arc at the centre

is 60°. (Use n = 3-14)
OR

(b)  If achord of a circle of radius 10 cm subtends an angle of 60° at the

centre of the circle, find the area of the corresponding minor

segment of the circle. (Use n = 3-14 and +/3 = 1-73)

3l. InaAABC,£ZA=x°,Z/B=Bx-2)°and £ C =y°. Also, £ C -« B =9°.
Determine the three angles of the triangle.

30/C/2 ~N~~ Page 15 P.T.O.
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Qs ¥

59 @US § AH-3509 (LA) PR & 97 8, 574 Id% & 5 3% & |

32. UH ThA & gHdl Hel HI 50 BETST hl HATS (cm H) 1 FAq0T foham mo7 3R
gefud fefaRad sAfehs JTed 8T :

418 (cm ) ST hl &
120 -130 2
130 — 140 8
140 — 150 12
150 — 160 20
160 - 170 8
o 50
I9h TRl T HTEA 3TN FgeTsh TG BT |

33. (%) TH A9 3 mhl HATs dh Toh QG-I S o AR I & AR B
% FW 13-5 m hl ATUHhaH Ha13 o AY TE-JAF NP &9 AT @ | IQ
YR 1 BSAT 14 m 7, T T 2 Ui o Hiet 1 & T q9 6 Had Wi
1 U2 HH H AT T BT |

YT

(@) TUH 39 The! I R Toh TE-GAd IS o ATHR h1 8 S & B
% Teh ALY T AW g | Ifg T hl B 4-2 em o1 Raeiq
FI A S8 102 cm B, A The! o Gl HT A A VW | 39
e =1 $at T amwa off 7 Hifvw |

34. 60m 33 a7 & R T T Feet T & G IR dad &+ FITHT SHI0T HUT:
45° 3R 60° 7 | TR Sl S8 F1d HINT | (V3 = 1-73 T T HifS)

30/C/2 ~~~~ Page 16



B

This section comprises long answer (LA) type questions of 5 marks each.

SECTION D

32. A survey regarding the heights (in cm) of 50 girls of class X of a school

was conducted and the following data was obtained :

Height (in cm) Number of girls
120 - 130 2
130 — 140 8
140 - 150 12
150 — 160 20
160 - 170 8
Total 50

Find the mean and mode of the above data.

33. (a) A tent is in the shape of a right circular cylinder up to a height of

3 m and then a right circular cone, with a maximum height of

13-5 m above the ground. Calculate the cost of painting the inner

side of the tent at the rate of ¥ 2 per square metre, if the radius of

the base is 14 m.

OR

(b) A solid wooden toy is in the shape of a right circular cone mounted

on a hemisphere of same radius. If the radius of the hemisphere is
4-2 cm and the total height of the toy is 10-2 c¢m, find the volume of

the wooden toy. Also, find the total surface area of the toy.

34. From the top of a 60 m high building, the angles of depression of the top

and bottom of a cable tower are observed to be 45° and 60° respectively.

Find the height of the tower. (Use ¥3 = 1-73)

30/C/2 ~~~

Page 17
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£
35. (%) fag il fe:

1+sin® 1-sinH

; - - =4 tan 0 sec O
1-sin® 1+sin0

YT

(@) ¥ @ i
tanZ 60° + 4 sin2 45° + 3 sec? 60° + 5 cosZ 90°
cosec 30° + sec 60° — cot2 30°

Qs &

59 @UE H 3 YUl 37eTFT STERT I97 & 157780 9c9% & 4 3% & |

TR0 FEFAT - 1

36. 14 HEU I FCEIEA o 1T € o € H AR AT 2 3R T % &3 o0
8 fA ol 79 € | wRa # ft 3 A 9 39 T B T IE fR iR T
el (eh Jaehard i HHiad 9&al # $8 fawal i qdeh gF i

sfdeT™ = 96, o = 240, TG = 336

3 J&dehi i HU-H-HA U H 39 YR FARYd AT 8 Th TAH &L H had

T o Y qEdeh B TR Yceh & W YTkl hl T AU B |

ITYTH AT o YR W, F=fcIigd T o W T

(i) TP < ¥ fopat foparel safedr g 2

(i)  TITG 1 Tt qEdehl i AR H b forw fohad @t 1 W foha
STl 8 ?

(i) (%) At geaeni I AU i o AT 3T fohu, ST ATt @T i
P g (G Hife |
reran

30/C/2 ~~~~ Page 18



35. (a) Prove that :

1+sin® 1-sinH

- - - =4 tan 0 sec 0
1-sin®6 1+sin6

OR
(b) Evaluate :

tanZ 60° + 4 sin2 45° + 3 secZ 60° + 5 cos2 90°
cosec 30° + sec 60° — cot? 30°

SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. February 14 is celebrated as International Book Giving Day and many
countries in the world celebrate this day. Some people in India also
started celebrating this day and donated the following number of books of

various subjects to a public library :
History = 96, Science = 240, Mathematics = 336.

These books have to be arranged in minimum number of stacks such that
each stack contains books of only one subject and the number of books on

each stack is the same.

Based on the above information, answer the following questions :

) How many books are arranged in each stack ? 1
(i1)) How many stacks are used to arrange all the Mathematics books ? 1

(1i1) (a) Determine the total number of stacks that will be used for
arranging all the books. 2
OR

30/C/2 ~~~~ Page 19 P.T.O.



(i) (@) e sfogm, fogm iR wfta i g g&ash i G HAW:
1-8 cm, 2:2 cm 3T 25 cm%, ?ﬁSﬁl’&'l’H, ﬁﬁl’F{ R Tiford
J&dehl o Jcdeh &L sl S8 T I | 2

ThIOT {EAAT - 2

37. W H Wdd FHT FHR A T B hl @1 AR 9 A § o1 foh a8 =1 7 |
3IUh! AT 3 IW T o6 a8 vyl gro wreg @1 A & e 9w T s
g | =1 g, 38 3 Far foh 9 9T B I ARG Th R = 7 |
B ! T FTEAT Bl AT § @ T R |

50

(=7,0) (7,0)
-10\-5 0 5 10

ST A1 o MR W, F=fafea s o I G

(i) feu TC T gRT T MY e o foa feha vk & 2 1
(i) g9 % Y fafEy | 1
(i) (F) FACTGIExZ+(@a+1)x+b YIH 23 -37, A a3 bh
HH 1T hHITY | 2
HAAAT

30/C/2 ~~~ Page 20



(i) (b) If the thickness of each book of History, Science and
Mathematics is 1-8 cm, 22 ¢cm and 2-5 cm respectively, then
find the height of each stack of History, Science and
Mathematics books. 2

Case Study - 2

37. While playing in a garden, Samaira saw a honeycomb and asked her
mother what is that. Her mother replied that it’s a honeycomb made by
honey bees to store honey. Also, she told her that the shape of the
honeycomb formed is a mathematical structure. The mathematical

representation of the honeycomb is shown in the graph.

50

(=7,0) (7,0)
-10\-5 0 5 10

Based on the above information, answer the following questions :

) How many zeroes are there for the polynomial represented by the

graph given ? 1
(i1)  Write the zeroes of the polynomial. 1

(iii) (a) If the zeroes of a polynomial x2 + (a + 1) x + b are 2 and — 3,

then determine the values of a and b. 2
OR
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(i) (@) C T§IG x2 + px + 45 % AR b IF= H1 a1 144 7, dl p H
HE F1d hIRT |

Th0T 3AEFAT - 3

38. T UTh § IR WH Teh JAThR HedR o 9 3R A, B, C 3R D &1 feufa # 39
TR @S B1d 8 T @H AB, BC, CD 3T DA # &M aTell shuel AT P, Q, R
3R S W AR HeaR i Tal & widn b o= o fo@mn o 7 |

IR AT b MR |, Fe 3w & 3w A

(i)  3AfE IR HeaR 1 g O 3, A £ OSA Tl HIY F1d HINT |

(ii) 9 AB = AD @I, @ ABCD 3Tehfd sl 91 fafau |

(iii) (%) A DR=7cm 3 AD =11 cm 8, A AP &l a8 F1a I |

AT

(iii) (@) 3 JAHR HeaR 1 g O 7 3 £ QCR = 60° 7, @ £ QOR
%1 /Y FTd HIT |
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(iii) (b)  If the square of difference of the zeroes of the polynomial
x2 + px + 45 is 144, then find the value of p. 2

Case Study -3

38. In a park, four poles are standing at positions A, B, C and D around the
circular fountain such that the cloth joining the poles AB, BC, CD and
DA touches the circular fountain at P, Q, R and S respectively as shown

in the figure.

Based on the above information, answer the following questions :

) If O is the centre of the circular fountain, then £ OSA = ... 1

(ii) If AB = AD, then write the name of the figure ABCD. 1

(1i1) (a) If DR =7 cm and AD = 11 cm, then find the length of AP. 2
OR

(i) (b)  If O is the centre of the circular fountain with £ QCR = 60°,
then find the measure of £ QOR. 2
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